[bookmark: _GoBack]Attachment -Term 1 Week 2 
Basic Number Facts- One minute Task
Complete as many addition facts as you can in a minute. Now complete as many subtraction facts as you can in a minute. Repeat this one minute time for multiplication and then for division facts. You have one minute for each operation.
	1 + 7 =
	
	
	10 – 3 =
	
	
	3 x 6 =
	
	
	12 ÷ 3 =
	
	

	4 + 12 =
	
	
	17 – 5 =
	
	
	4 x 2 =
	
	
	18 ÷ 2 =
	
	

	0 + 2 =
	
	
	12 - 9 =
	
	
	10 x 9 =
	
	
	25 ÷ 5 =
	
	

	19 + 5 =
	
	
	7 – 4 =
	
	
	9 x 11 =
	
	
	8 ÷ 0 =
	
	

	7 + 7 =
	
	
	19 – 11 =
	
	
	4 x 3 =
	
	
	10 ÷ 1 =
	
	

	11 + 8 =
	
	
	20 – 4 =
	
	
	7 x 5 =
	
	
	64 ÷ 8 =
	
	

	14 + 10 =
	
	
	21 – 19 =
	
	
	8 x 8 =
	
	
	27 ÷ 9 =
	
	

	9 + 3 =
	
	
	6 – 5 =
	
	
	0 x 3 =
	
	
	42 ÷ 6 =
	
	

	13 + 4 =
	
	
	14 – 0 =
	
	
	7 x 4 =
	
	
	70 ÷ 10 =
	
	

	22 + 0 =
	
	
	18 – 15 =
	
	
	7 x 7 =
	
	
	16 ÷ 4 =
	
	

	18 + 8 =
	
	
	3 – 2 =
	
	
	4 x 5 =
	
	
	24 ÷ 3 =
	
	

	6 + 4 =
	
	
	13 – 9 =
	
	
	9 x 3 =
	
	
	8 ÷ 8 =
	
	

	8 + 5 =
	
	
	2 – 1=
	
	
	6 x 5 =
	
	
	0 ÷ 7 =
	
	

	10 + 7 =
	
	
	14 - 3 =
	
	
	1 x 7 =
	
	
	45 ÷ 5 =
	
	

	5 + 9 =
	
	
	10 – 5 =
	
	
	2 x 8 =
	
	
	36 ÷ 6 =
	
	

	12 + 7 =
	
	
	9 – 3 =
	
	
	5 x 5 =
	
	
	9 ÷ 3 =
	
	

	13 + 8 =
	
	
	12 – 5 =
	
	
	12 x 0 =
	
	
	20 ÷ 4 =
	
	

	20 + 11 =
	
	
	0 - 12 =
	
	
	9 x 8 =
	
	
	28 ÷ 7 =
	
	

	14 + 5 =
	
	
	17- 5 = 
	
	
	6 x 7 =
	
	
	56 ÷ 8 =
	
	

	21 + 3 =
	
	
	22 - 9 =
	
	
	2 x 6 =
	
	
	81 ÷ 9 =
	
	

	17 + 9 =
	
	
	12 – 7 =
	
	
	9 x 9 =
	
	
	33 ÷ 3 =
	
	

	18 + 2 =
	
	
	15 – 8 =
	
	
	9 x 4 =
	
	
	63 ÷ 7 =
	
	

	0 + 21 =
	
	
	13 -12 =
	
	
	10 x 4 =
	
	
	14 ÷ 2=
	
	

	17 + 5 =
	
	
	10 – 6 =
	
	
	4 x 4 =
	
	
	100 ÷ 10 =
	
	

	13 + 4 +
	
	
	9 – 6 =
	
	
	18 x 1 =
	
	
	48 ÷ 6 =
	
	

	21 + 5 =
	
	
	19 - 11 =
	
	
	6 x 6 =
	
	
	49 ÷ 7 =
	
	

	16 + 11 =
	
	
	23 – 5 =
	
	
	8 x 3 =
	
	
	16 ÷ 8 =
	
	

	4 + 5 =
	
	
	16 – 4 =
	
	
	7 x 8 =
	
	
	21 ÷ 3 =
	
	

	9 + 12 =
	
	
	18 - 6 =
	
	
	4 x 9 =
	
	
	24 ÷ 2 =
	
	

	11 + 0 =
	
	
	25 – 7 =
	
	
	3 x 5 =
	
	
	56 ÷ 7 =
	
	

	4 + 3 =
	
	
	5 – 3=
	
	
	2 x 12 =
	
	
	36 ÷ 12 =
	
	

	19 + 2 =
	
	
	90 – 8=
	
	
	9 x 6 =
	
	
	45 ÷ 5 =
	
	

	15 + 5 =
	
	
	12 – 5 =
	
	
	5 x 7 =
	
	
	72 ÷ 9 =
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